

14/10

موسم الامتحان

Subject:

Year:

Month:

Day:

page: ()

$$|r n^r + (m-r) n^r + a| \xrightarrow{n \rightarrow \infty} r a^r + (m-r) a^r + a^r = 0 \rightarrow a^r (r a + (m-r)) = 0$$

$$\begin{aligned} \downarrow & a=0 & \downarrow & r a = r-m \\ & & & a = \frac{r-m}{r} \\ & & & m = r - r a \end{aligned}$$

$$r n^r + (m-r) n^r + \frac{m}{r} \xrightarrow{n \rightarrow \infty} r a^r + (r - r a + r) a + \frac{r - r a}{r}$$

$$= r a^r + r a + 1 = 0 \rightarrow (r a + 1)^r = 0 \rightarrow a = -\frac{1}{r} \quad m = r + 1 = r$$

$$\frac{\sqrt{r n^r + (m-r) n^r + \frac{m}{r}}}{|r n^r + (m-r) n^r + a|} = \frac{\sqrt{4 n^r + 4 n + \frac{r}{r}}}{|r n^r + \frac{1}{r}|} = \frac{\sqrt{\frac{r}{r}} |r n + 1|}{|r n + 1| |n^r - \frac{n}{r} + \frac{1}{r}|} \quad (r)$$

$$\rightarrow \frac{\sqrt{\frac{r}{r}}}{|n^r - \frac{n}{r} + \frac{1}{r}|} = \frac{r \tan b}{\sqrt{-n}} \xrightarrow{n = -\frac{1}{r}} \frac{\sqrt{\frac{r}{r}}}{\frac{r}{r}} = \frac{r \tan b}{\sqrt{\frac{1}{r}}} \rightarrow \tan b = \frac{\sqrt{\frac{r}{r}}}{\frac{r}{r}} \quad b = \frac{\pi}{4}$$

$$f(n) = \frac{n^r + a n + b}{n-1} \xrightarrow{n=1} 1 + a + b = 0 \rightarrow a + b = -1$$

$$a n^r - a n + b = 0 \xrightarrow{n=1} a - a + b = 0 \rightarrow a - b = 0$$

$$\left. \begin{aligned} a + b &= -1 \\ a - b &= 0 \end{aligned} \right\} \rightarrow \begin{aligned} a &= r \\ b &= -r \end{aligned}$$

$$\left[\frac{b-r}{r} \right] = \left[\frac{-r-r}{r} \right] = -r \quad (r)$$

$$f(n) = \begin{cases} \frac{\tan((n+1)\frac{\pi}{r})}{r} & n \leq 1 \rightarrow n=1 \rightarrow \tan \frac{\pi}{r} = -1 \\ \frac{|n^r + n - 1|}{a(1-n)} & 1 < n < \infty \rightarrow \frac{(n+r)(n-1)}{a(1-n)} = \frac{-n-r}{a} \xrightarrow{n=1} \frac{-r}{a} = -1 \rightarrow a = r \\ b(n - [-n]) & n \geq 0 \rightarrow n=0 \rightarrow b \times 0 = -\frac{r}{r} \rightarrow b = -\frac{r}{r} \end{cases}$$

$$a \times b = -\frac{r}{r} \times r = -\frac{r}{10} \quad (r)$$

$$f(n) = a[n+1] + b[n+1+1] = a[n+1] + a + b[n+1] + b$$

$$n=0^+ \rightarrow a + b[a] + b \quad \left. \begin{aligned} & \\ n=0^- & \rightarrow -a + a - b + b[a] + b \end{aligned} \right\} \rightarrow a + b = 0 \rightarrow b = -a$$

$$f(a) = a[a] + a + b[a] + b[a] + b = b[a] = -a[a]$$

$$\frac{a[a]}{-a[a]} = -1$$

Arman

$$f(n) = 2[n^p - (n-1)^p] - 2a \rightarrow 2=0 \rightarrow p(m) = -2a$$

$$\frac{a}{p(m)} = \frac{2}{-2a} = -\frac{1}{a}$$

4

$$\frac{(a-n)(p(a-n))}{a-n} = p \cdot n = a \quad \text{for } p$$

4

$$(p-n)(p-n) = n^p - (n-1)^p + 1 \rightarrow m = -4 \quad n = m = 1 - (-4) = 5$$

4

$$n=0^+ \rightarrow p(m) = 1 - \frac{1}{n^p}$$

$$n=0 \rightarrow f(n) = b \sin\left(\frac{\pi}{a}\right)$$

$$n=0^- \rightarrow p(m) = a-1$$

$$\left. \begin{array}{l} n=0^+ \rightarrow p(m) = 1 - \frac{1}{n^p} \\ n=0 \rightarrow f(n) = b \sin\left(\frac{\pi}{a}\right) \\ n=0^- \rightarrow p(m) = a-1 \end{array} \right\} \rightarrow 1 - \frac{1}{n^p} = a-1 \rightarrow \frac{1}{n^p} = 2-a \rightarrow a = 1 - b \sin\left(\frac{\pi}{a}\right)$$

4

$$= b \sin\left(\frac{\pi}{a}\right)$$

$$a = \frac{1}{p} \rightarrow b \sin\left(\frac{\pi}{a}\right) = b \sin\left(\frac{\pi}{\frac{1}{p}}\right) = b \sin(\pi p)$$

4

$$\rightarrow a = -1 \rightarrow b \sin(\pi) = -\frac{1}{p} \cdot \frac{1}{p}$$

$$a = \frac{1}{p} \rightarrow b \sin\left(\frac{\pi}{\frac{1}{p}}\right) = -\frac{1}{p} \rightarrow b = \frac{1}{p}$$

$$\frac{a}{b} = \frac{\frac{1}{p}}{\frac{1}{p}} = 1$$

15

$$\frac{|n+m+1|}{m|n+1|+1} = \frac{|n+m+1|}{m|n+1|+1} = \frac{m}{m+p} \quad n=1 \rightarrow \frac{m+1}{m+1} = \frac{m}{m+p}$$

20

$$\rightarrow p(m) + m = (m+p)^p \rightarrow m^p - p m^{p-1} = 0 \rightarrow m = p / -1.50j$$

4

$$\lim_{n \rightarrow \frac{1}{p}} f(n) = \frac{|n+m+1|}{m|n+1|+1} = \frac{\left|\frac{1}{p} + 1\right|}{\frac{1}{p} + 1} = \frac{1}{p}$$

$$\sqrt{p} |a^p + a| = 0 \rightarrow a^p + a = 0 \rightarrow a = 0, -1$$

1/√a

4

$$(-1)^p + m - p + 1 = 0 \rightarrow m = p$$

$$\lim_{n \rightarrow -1} f(n) = \frac{\sqrt{p} |n-1|}{|n+1|} = \frac{\sqrt{p} |n-1|}{|n+1|} = \frac{\sqrt{p}}{p}$$

$$\lim_{n \rightarrow -1} \frac{\sqrt{p} |n-1|}{|n^p+1|} = \frac{\sqrt{p} |n-1|}{|(n+1)(n^p-n+1)|} = \frac{\sqrt{p}}{p}$$

30

$$\frac{x(n+1)}{x(n+1)} = \frac{p(a-1)}{p(a+p)} \quad n=0 \rightarrow \frac{p(a-1)}{p(a+p)} = \frac{1}{a} \rightarrow p a^p - p a - p = 0 \rightarrow a = p$$

10

$$\lim_{n \rightarrow \frac{1}{p}} f(n) = \frac{n^p + m}{n^p + p m} = \frac{p}{p} = 1$$